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QUESTION 1

A customer is deploying vRealize Log Insight (vRLI) in their data centers. The customer has the following:
Three data centers in three geographical locations.

Each site has 1000 logging sources that send events to VRLI.

The customer has the following requirements:

Minimize the resources footprint in the management cluster where vRLI will be deployed.

VRLI must be highly available with no single points of failure.

Logs collected from any data center must be protected against site failure.

Which three design decisions would the architect choose to achieve the requirements? (Choose three.)
A. Configure logs forwarding from all data centers to a specific data center.

B. Configure filters to eliminate forwarding loops between vRLI clusters.

C. Configure logs forwarding from each data center to another one.

D. Deploy nine vRLI "Medium" nodes in a single cluster in each data center.

E. Configure filters to forward critical logs to central vRLI cluster.

F. Deploy four vRLI "Large" nodes in a single cluster in each data center.

Correct Answer: ADE

QUESTION 2

An architect is designing a greenfield Cloud Management solution. During the requirements gathering workshop with the
customer, the following information was captured:

The log monitoring solution must be capable of collecting a minimum of 10,000 evets per second. The automation
solution must be capable of deploying at least 20 concurrent workloads.

When creating the design documentation, which design quality should be used to classify the requirements?
A. Availability

B. Manageability

C. Performance

D. Recoverability

Correct Answer: C
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QUESTION 3

An organization\\'s cloud team would like to reduce template sprawl. Below are the applications they want to deploy
using cloud templates:

MS SQL and Web IIS applications on OS types Windows 2016 and Windows 2019 Oracle WebLogic and Oracle DB
applications on OS types RHEL7 and RHEL 8

Which two options would meet these requirements? (Choose two.)

A. Create an image mapping for Windows and RHEL OS types

B. Create a Cloud Template for each application type with a combination of OS types

C. Create a Cloud Template or upgrade an existing one with user input to select the OS type

D. Create a Cloud Template for each OS type and have a user input option to pick the application type.
E. Create image mappings for OS types Windows 2016, Windows 2019, RHEL7 and RHEL8

Correct Answer: AC

QUESTION 4

What are the two valid characteristics of vRealize Automation Cloud? (Choose two.)
A. Supports on-premises vSphere and vRealize Orchestrator

B. Requires a standard license

C. Requires a load balancer

D. Supports on-premises vRealize Operations Manager

E. Has a frequent release cycle

Correct Answer: CD

QUESTION 5

An architect has been engaged to update an operations management solution design to include VMware
vRealize Suite Lifecycle Manager (VRSLCM) so that the support team can reduce the complexity of
environment and content management activities. The customer has provided the following information with
regards to the existing environment:

There are four environments for business applications:

Development

Staging
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Production

DR

The solution consists of two well-connected data centers (with low latency, high bandwidth links).

All Production workloads and management tooling are deployed to Data Center 1 (DC1).

All Staging, Development and DR workloads run in Data Center 2 (DC2).

Each physical data center has one vCenter Server and a sufficient number of hosts for workload and
management.

There are two separate VMware vRealize Operations (VROps) clusters, one in each data center location.
Currently all content is developed in the DC2 vROps cluster before being manually imported into the DC1
VROps cluster.

Which two design decisions should the architect include in the solution? (Choose two.)

A. An environment will be created within vVRSLCM across both physical data centers to logically group management
components.

B. An environment will be created within vVRSLCM for each physical environment to logically separate management
components.

C. A single vVRSLCM appliance will be deployed into each physical datacenter.

D. An environment will be created within vVRSLCM for each physical data center to logically separate management
components.

E. A single vVRSLCM appliance will be deployed into DC1.

Correct Answer: AC
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